
BACKARM (BOW) SCHEMATIC

Backarm Complete (Bow)
(BACKARMROWBOW)

Backarm End
(BACKEND-BOW)

Backarm Tube
(BACKTUBEBOW)

Backfoot
(BACKFOOT)

Lock Nut
(BACKARMLOCKNUT)

Cross Dowell Nut
(RIGDOWELL)

Saddle Bush
(RIGSADDLE)

Bolt M6 x 20
(BOLTM6HEX20SET)

Washer M6 Flat 1.6mm 
(WASHM6FLT1.6)

https://www.sykes.com.au/collections/riggers-rigger-parts/products/backarm-row-bow
https://www.sykes.com.au/collections/riggers-rigger-parts/products/backarm-end-black-bow?variant=10830487745
https://www.sykes.com.au/collections/riggers-rigger-parts/products/backtube-bow-1
https://www.sykes.com.au/collections/riggers-rigger-parts/products/backarm-tube-cross-dowell-nut?variant=10830475521
https://www.sykes.com.au/collections/riggers-rigger-parts/products/lock-nut-for-adjustable-backtube?variant=10830475393
https://www.sykes.com.au/collections/riggers-rigger-parts/products/bolt-m6-x-20-s-s-hex-set-screw?variant=17396399425
https://www.sykes.com.au/collections/riggers-rigger-parts/products/saddle-bush-for-backarm-z183x23mm-black?variant=10830475585
https://www.sykes.com.au/collections/riggers-rigger-parts/products/washer-m6-t316-s-s-flat-1-6mm?variant=17396108737
https://www.sykes.com.au/collections/riggers-rigger-parts/products/slotted-backfoot-1x-wing

